EARAROBEEIERT — 2 N— IBISH —F

201758H218 (B) 6mEIIIiE1H

B 201 78]llIJsC C3 #5%—M

‘ (] 8 ‘ (EmmEl  — | 4 () 15000 B

[A~&£] 17 1,000,000  ~ 23 :340,000 @ 37 :200,000 §

4 7% 140,000 B 5 3& : 120,000 M

B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
“ . AHECE :39. -11-7- . - FEARE GEF)
115]7 Y IINZ IO 4 4 o 1(3_9)0 11-11-7-5 | 39.8 6 ;1_250) Eﬂﬁm
v TdATHA4 LR B:357001I0 BEARMIS
s 4 4 | BEBA 1:39.1 2-2-1-1 | 41.1| — 1 487 | Witat ()1118)
2(1]1 | ¥/ VE—> 56.0 (3/4) © | (B NOKKN
LxLTHXANAN B4 5v1—F HE SRk
_ . . T . 44 _ EEE— (IR
ZFAHEARZ B > 4 e (11319/5 5-4-4-4 | 41.4 9 (3_9152 e PN
L 2AFAd—- R B:EYxZzOv> =i RS
— —se s = FRBZ : -3-2- — oA (1)
STU xS H o4 il 1.(329).8 3-3-2-3 | 41.8 2 ::2) ety
RHISAHATE— BHISEL—X =5 &
N H R :40. -5-2- . — gt (J11)
X HE—UZX o4 56_0? (11410/21) 4-5-2-2 | 42.1 3 :1:128) Pt
RiYUSHULL BHIIHREI—F BEZE Y b
§ . BH B :40. —-12-10- . — AEBEE (115)
TFHEAY 4 o 1 (440)9 12-12-10-8 | 41.4 7 (4_534) e
R4 RT—IVEY B:=IAhFA BB T — L
t 4 | HIEESR 1:40.9 7-6-6-7 | 42.1| — 5 478 | WiBEE (J1118&)
TIVIHAIVT g 56.0 (7€) 3 |18 SH Ry sL—3y
L:2=/xXLLy b BT hTX1—L IR
o [N LS ; -13-12- — 1EREEAL (Ma1E)
Ky KT HIL H o4 e 1.(411).1 14-13-12-10| 41.3 11 :?;) e A
.47 NT—ILEY B: X0y b TRk
T 5 | W& 1:42.4 9-8-11-12 | 43.2 | — 8 480 | EAFE (1)
AR F—RXF # 54.0 ®) -3) AAZS 4 K ()
L:IM4Y>FEa71 B:JL—bTr BNIRARIS
T f 7 | WHEREE 1:42.5 6-7-7-9 |43.9| — 12 | 472 |FAE— (&)
IvyJlLyYy 54.0 (&) 45) | @0 Nicks
R:BALINT Ry 7R B:T7v/IYLF BARLBRS
S = 4 4 | SHER 1:43.2 8-8-9-11 | 44.0| — 10 452 | FIIESR (EFD)
"z e-—Fa—-71- 54.0 3 g | B
RV H AT by h— BTHAF T 1 B -
3 # 9 | EHERR 1:43.2 13-14-14-13| 43.2 | — 13 447 | 1EEEEEL (RAFE)
12 o| ¥TTTVREN 540 (nF) (o) |BrEmE
RHATTEYR B AATAYT TFHREHS
- ° e 144, -10-13- . - AERZE (1)
1318114 A TIVZTy T 4 6 i 1(4;1)0 10-10-13-13| 44.2 14 ;1_334) e
RixA1=ZTyr—R BE=IYaATLTRYYaq J—=HrTp—L
NSWEPEES . i 4 | EIIFRE 1:45.3 1-1-4-6 | 47.3| — 4 447 | FEE— (1)
148[13| /N¥ AT STF v 5.0 ® 4y | ) BEEE
Riy—UrH— B:¥>vy HRXEH RUMI 77 —4
® 1—F—@EBIERL
1T=7r= 13,1,8,5,3,10,4,11,12,14,7,6,9,2
2a=5F= 13,1,8,3,5,4,10,(11,12) ,14,7,6,2,9
Ja=5= 1,(5,8),(3,13),4,(7,10),11,6,12,2,14,9
40—+ — 1,5,8,3,7,13,4,6,10,2,11,12,(9,14)
[ /N
B 7 1,510 714K 1-7 880M e E 1-5 6009 JEE 1-3-7 7,430
B B 7 420 3-7 2,710 e B =1 1,140 3EE ==& 53,860/
1 1609 1-3 760M B & 1-7 2,950
8 530 B H 7-1 7,620M

ABICOVWTRDTEEERROODE. TR LIV,




